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' COMMERCE
’ {Regular Elective)
Answer the Questions from any one Option.
. OPTION-A
(Advertising )
" Paper : COM—RE -60 16
'OPTION-B

(Banking)
Paper : COM-RE-6026

.OPTION-C
( Manageme'nt Accounting)
Paper COM'—RE'-—6036
Full Marks : 80
Time : Three hours
The figures in the margin indicate
. Jull marks for the questions.

Answer either in English or in Assainese.
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OPTION-A
. ( Advertising}
~*Paper : COM-RE-6016
- 1. Answer the following questlons as dlrected :
1x10= 10
R T o RUCH N
) State True or False :
T ST ﬁl‘an : '

(a) Advertlsmg is a techmque of
promotion.

ﬁwm@@cﬁw«aﬁ%f%n

(b) Advertising is a two-way
, communication process.

R@io :’a‘m citcIe et
(c) | Newspaper is a form of soclal
- media. ‘
-mﬁmi’ammﬁﬁmwmsmn

‘ (d) An advertising agency works for
clients.

vqﬁﬁwﬂaﬁwﬁWmm
A
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(i) Choose thé correct answer : -
Ao B! AR Sfeveat 3
(a) Personal selhng is not targeted
towards -

Jfesre ﬁzﬁm TR W -
(i) - mass audience
g e,
(11) 'personél coﬁtact
IS Q@
(idi) -two-Way communication
T it |
(iv) quick feedback |

{b)' The fastest growing medlum of
‘ 'advertlsmg is

%o R Reatsia snm 2’@
Hm TV ®F). ¥

- (i) Radio '(ws"w
(iii) Internet (‘Q%Tﬁtﬂ‘fa‘)

- (iv) Newspépér (37 IFS)
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(i) Fill in the blanks :
JET O A I 8

(@) ______ media is concerned with
~ external displays.

I - - aﬂ%ﬁs A TS
‘\ﬁﬁ‘l
. (b)) ___ advertising is about
- truth, fitness and equity in
communication. -
. REeW T @i ey,
THAITS! S O T |
(iv) Write the full form of :
ol Tt forf ¢
() AIDA
'(b) ASCI

2. Write very short answers to the followlng
questlons F : - 2x5=10

CT eHPTRA ifS Y Tey ol ¢

~ (a)° State the meaning of advertising.

- R ol T
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(b) State two adverse nnpacts of adverttsmg
on the society in India.

wﬁaweﬂa@ﬁmwzﬁa@am
SR 71| |

. () Mention two obJectlves of advertlsmg -
Reteimg 76 S W hall

{d) What is an advertlsmg appeal?
Rtot S e

(e) Write twa advantages of SMS
advertising.

SMs Retis 7 R n

3. Write shoft answers to the following
quéstions (any four) ' 5><4-'20

' oS B T T 5 Tt B ¢
(Rcwizt 5151

(a)' Explain the 'steps of advertising
communication process.

- ReioRa mwmmwwn
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(b)

W

(d)

(e

Explam the role of audlence analysis

in .advertising.

R i Rerer g i 11

‘Discuss the eséential elements of

advertising budget.

ﬁwmwﬁmﬁnﬁmwmw'
i1 |

Explain the economic impact of
advertisement.

Rl S a@mﬁm 0

Explaln the pre- requlsltes for sound

. media planmng

.ﬂWWWWWWWI

Descnbe the qualities of a gooc_l

. advertising copy.

T Rt BibR @«n@qaf{qacﬁrwn
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4.

Answer the following : (any four)

(@)

(b)

(0

(@)

‘ 1dx4—4o

‘wwwm (ﬁmmwﬁ?r)

Descnbe the unportance and limitations -
of advertising. o 5+5=10

| WW@WWWWZPWWH

What are the different methods of.
setting advertlsmg budget ? Discuss.

ﬁNMﬂaaamﬁﬁﬁhmwaemﬁ%aq§ﬁ$ﬁ$9smﬁm;n~

= 1

What are the major media used in

" advert1s1ng? Describe.

ﬁﬂmﬂmsamﬂacm@r¥%=mmmmﬁﬁ$ﬁ$va¢m

ok

Explam the merits' and demerits of
internet as.an advertising media.

5+5=10

ﬁEMﬂaa:mma=mﬁcwiﬁ%wﬂﬁazﬁhnEW¢
WWWWI
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- (e) What are -the dlfferent types of_"

" advertising appeals ? Discuss. .
%WWMW%%?W
WI

() Discuss the major factors which
1nﬂuence media scheduhng _
mmm@ﬁ?ﬂ—mcmwﬁm -
WWI '

(g9 What is advertising effectiveness ?
. Describe the need for measuring -

advertising effectiveness. 3+7=10
Rt Tl WE e RerRs waeel
SR EIE] 'ﬁmﬁw 3 T/ :

(h) Discuss the various legal aspects: to
“control advertising in India. - '

_ Wﬁmﬂaﬁﬂmqumﬁm
‘W@WWWI
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. OPTION-B

.- (Banking )
* Paper : COM-RE-6026
1. Choose the éorrect answer : o IX10=i.0 A
R @mz‘a‘t 3R ﬂ?ﬁw g

(a) In which year was the Reserve Bank of
Indla natlonahsed? .

| P oS ﬁwé R AT = ?i%m
i) 1934 (m«:s) '
- @) 1935 ,(§a\-_>e)~
. (i) 1948  (s8b)
W) 1949 (3383)
(b) Generally which banking system is
' followed in India?

WWWWWWWW ) |
= @

() Unit Banklng (Cﬁﬂ'ﬁ @‘(ﬁ%)

(i) Chain Banking (% AR
(i) Branch Banking (IRl GRRR)
| (iv) Retail‘Banking (R QR:)
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" {c) A savings bank account in the sole
name of a minor can be opene-c_l""'
prov1ded he has completed

mﬁmwﬁmﬂwﬁwmrmwﬁ
- ol PR A=

(i) 10 years: . (>0 IT©)

) 12 years (53 TO)
(i) '.18 yeé.rs 1614 IJ©)

(iv) 21 years (3> IT@)

' _(d) The most 1mportant pnnc1p1e of sound |
o lendmg is

j 'mmasﬁwﬁwmiﬂ%m
) safety .
@) security
e
(i) liquidity
STl
- .'(iv) proﬁ'.cability'.
| TeEws
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(e) In which year were six fnore commercial
- banks nationalised ?,

mm—mmﬁf@ﬁ @ma@ww

e
i) 1969
‘(i) 1975

(iii) - 1980

fiv) 1982

(>aea)
(vs%9¢)

‘b‘(b'ab'o)
: (bhb’{)

H A cheque which is not crossed is called |

open cheque.

@WN@WM"@@WWWW

oI @‘l?ﬁf |
i Correct
&%

(ii) Incorrect

kT

(g) “Cash credit is a secured advance” The

statement is

“a 9 7S eescaf—

" (i) Correct

W&

(ii) Incqrfect

A< LT
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(h) Which of the following is not a .
negotlable instrument ? "

O D T P e
"~ (i) . .Cheque
' T
j .(ii) Pass Book
AT _, ‘
! (iii) Bill of Exchange
" (iv). Promissory Note -
ot ot

(f) Who among the following cannot be a
- customer of bank ?
. woR @Frcﬁ P @R AT ] m?

-fi) Minor
} (i) Married women
~ (iti) -An insolvent
g et I
(iv) A club |
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() A collecting banker is given statutory
_ protection only when it acts as

- AN @RET Rk WWW |

mwwwaﬁaaﬁa?
(i) a holder T

(i) a holder for value
(ﬁi) an agent
T G
(iv) a ,.holder in due ‘course '
 dow wRR 4R
2. Answer the follbwing ciuefstions :
‘ ' - 2x5=10
T epTTRe Ted e ¢ |
| ) (a) What is Scheduled Bank ?

- fhee T e
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(b) What is unit banking?
' cﬂﬁ-@aﬁaﬁs?‘

(c) Wnte two features of negot1able .‘
mstruments

-Wqﬂﬂ%m@mﬁﬂm

(d) Name any: four documents“of tif.le. to
goods

Wﬂaﬁmﬁmmmml

(e) ‘Write two advantages of crossed cheque

mﬁ—mzﬁﬁﬁmml

3. - Answer any four Qf the following questions :
| (in about 200 words each) 5x4=20

e Rz oI e T fova ¢ (ﬁﬁi"i 2005
- R fEeTe)

- (a) Prepare a spécimer; of a bank Balénée
sheet. .

@W%ﬁv‘:mﬁwﬁmw:
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(h) 'D1st1ngu1sh between a cheque and a
~ bank draft.

R QT T (53] IS Aon (TS |

(c) Distinguish between holder and holder
~ .in due course.

ﬂwﬁﬁ—pwmwwwmml'

(d) Under what circumstances the payment
- .of a cheque must be stopped by a

bank ? _
R R s cee meﬁﬁsﬁﬁ?ﬁ L
'ﬂ%@’

(e) Explam the meaning and s1gn1ﬁcance-
of endorsement.

oI Y T 6T G 4|
(f)b Explain the meaning of crossed cheque.
m\%@ &7 o awn

4. An'swer any four ef the following questions :
* (in about 600 words each)  10x4=40

e ﬁmmwﬁ?/ epi &3 ol 3 (2ifSHl woo
*Fq foog9) :

(a) Write a note on the evolution of bankmg
in India.-

W@WWW@%W%‘HI
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(b)  Write in brief about the different
E-banking' services and also mention |

their merits. : - 5+5=10
TR Rew e gl vt ol oI
w aﬁm@ﬁ e al '

" (¢) Define the term customer Elaborate

the general relat10nsh1p between banker

and ‘customer. - 2+8=10
el el a1 mwmm«qw.
R 7zl B

(d) Discuss the procedures of opemng
account in the name of a minor.

maﬁmmﬁm cmaﬁaﬁrrmmwm
s

(e) Who is collecting banker” State the
‘ statutory protection granted to the .
 collecting banker under the Negotiable
' Instrument Act, 1881. = 3+7=10

| TRATIN @ 2 Sbrbr T THRGCSY T -
‘ Wwﬁiﬂ—ﬂ\a@%mmwﬁﬁw-
WWWI '
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(f) What do you ‘mean by crossing of
cheque ? Explain the significance of

crossmg of a cheque. - 4+6=10
- &N mwwmﬁ{w QIS 7R oFQ
‘ JiG 9 '

(g)  Define endorsement. What-are the
' different kinds of endorsement?
2+8=10
ﬂén"aﬂw\wﬁm fmwﬁﬁi WW
SRR
" (h) Discuss the powers of the Reserve Bank

_.of India under the Banking Regulatlon
Act, 1949..

5385 B @R @@WWW@WW
RS aees FaoPRR SIS M1
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' OPTION-C
( Management A‘ccountin_g )
~Paper : COM—RE—6036

" 1. Answer the followmg questlons as d1rected |
1x10=10
ﬁvﬁ wﬁ TS ﬁ?ri R T i 2. '

.(a) Management Accou-n_tmg is the.
presentation of _ __information to”
the management. '

(Fill up the blank wzth. appropnate word/
words)

SINE L ﬁmﬁw Ll Wﬂm ﬁ@m‘m
L AT Tormiem 31

(@Wwwﬁmmwr)

- (b) Management Accountmg is related to ‘
" recording of accounting data.

| (State whether the statement o

is True or False)

. R RopR, ﬁﬂW@W
RgfEwR 7S Sigs| :
(@‘@z&‘reﬁmw'ﬁ@mﬂw)
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(c) Current ratio measures the long*term
solvency of a concern. S
(State whether the statement

is True or False) o

i'sﬁ@wamaﬁa%éﬁamﬁmaw
vrﬁﬂmml . -
(mwmwa@m#wr) |

(d) Balance Sheet is also known as
Statement L

A' (lel up the blank with appropnate word/ ,

" words) ' '

oa ﬁqﬁ-m et |

- .WW%%WW}

(e) Master Budget mcorporates all
 budgets. : AP
- (Fillup the blank with appropnate word/
words) o .

ol (@mmwﬁréf?ﬂwwv
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() The act of prepanng @budget is known
as budgetmg S
(State whether the statement
h ' ts True or False)

;WMWWW @HT’Q’N
| (@@mwmww@m#wv

| (9 ,Standard ‘Costs are prgfdetermlried-
costs.  (State whether the statement
is True or. False)

Wwﬁa}mﬁﬁﬁﬁﬁ@ﬂﬁm?&l o
| (@/%zﬁreﬁﬁwa@mij

(r). Standards set._ provide yardsticks

against which are compared.

(Ftll up the blank with appropnate word/
words)

.mewmﬁmmmﬁﬁw |
| @I S | :
((?9/31@ T N 373*:(?‘! W’) |
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() 1f P/V ratio is 30%, it means that
variable cost is 70% of :
(Fill up the blank with appropnate word/

words) .
_ﬁf%‘wa%ﬂﬁ 30% o, R S 2
SRS SRR 3 70%|

- (Gye T vrﬁl a2 AT a2
G A fixed cost is ﬁxed per unit at all levels
T of productlon '

(State whether the statement
is True or False)

E«Wﬁf*—cﬁtw 31 T ARSI Adpma
fiaml
(R @ﬁmww @‘@#WD .

2. Answer the followmg questlons : . 2x5=10
il W B frdl 2

-

" () .What is Management Accounting?

SEEin)] fisfv{am e

(b). | Explam the meanmg of Accountlng
Ratio.

fRploR SRS mrm =1
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. (c) What is flexible budget'J
i e & zme

- (d) What do you mean. by varlance
. ana1y81s ?

foret Resmer 3o & q@re

' (e) Determine the amount of variable cost
' from the following particulars :

| e SRR A1 RS stk figfas
Fs |

| Sales (ﬁzﬁ) : = Rs 1,50,000
 Fixed Cost (% #f¥m) = Rs. 30,000
Profit (+11s) = RsQ 40,006

3.  Answer any four of the followmg questions :
5x4=20

Tﬁmmmwﬁmwwﬁﬁﬁ B et 2

(@) Mention any five distinctions between
cost accountlng and management
accounting.

mﬁmwfmwﬂm &mﬂwaw— !
ﬁzwmﬂmvnwmawwu
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- (b) Explain any ﬁve hmltatlons of
management accounting.

wwﬁmmqaﬁmmvﬁsﬁr ﬁﬁaﬁm'
amnawn

(c) Explain any five dlstmctlons between )
fixed budget and ﬂex1b1e budget
A5 AL [ A

(d) Explain the procedtire of ,ascerta'ining
" stanidard cost. )

Wolﬁmﬁmqaﬁmwwn

(e) .Ment10n any ﬁve features of margmal

costing. -

Wﬂﬁm«ﬁ?@w«*ﬁm WWWI' -

H A f1rrn manufactuxjers 1,000 .smalll

_cycles, the cost contents per unit of
which is given below :

51 2RSBIE 1,00051 77 BT S %

o0 af\—c%t vigraes JARIE 2 8
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Particulars - "~ | Per Unit Cost (Rs.) .
Materials - 60 ’
ol AR
Labour . - T 20 .
Variable ove;'heé.d o 20
- Fixed overhead . - - 50
" Total cost - 150
Selling price per unit 200

In view of the keen competltlon in the
market, if the management dec1des to
reduce the selling price by 10%,
other factors remaining the same, what
quantity of product must be
. manufactured and sold to get the same
quantum of profit ?
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TS TR AfTAMER ~ARfEfe, ARoem-
Reret 7t Reages 10% 29 =R Farg =1,
S BAmTR SeiRiEe AR, (% 9@
SR 7S Tei IR AR, [ AR sz
Bestiv o1 Rt R wiifi et <=4t |

4. An,swer' any four of the following questions : ~
10x4= 40

| wﬁmmwﬁmwﬁm@mm

(a) Explain the funct10nS‘ of Management
Accounting. '

e RoPRAAR TR T

(b) ‘What do you mean by ratio analysis?
Mention ‘any four advantages and any
four lin:,iitations' of ratio a’nalysis.

| 2+4+4-10 '

" qun—ﬁmactqﬁmﬁsaw qun@ﬁmqa
&mmﬁmmﬁ@mmw
@uwﬂiﬁnl
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(c) The followmg are the deta1ls of
: M/s. ABC Ltd. for the. year ended
on 31St March, 2023 : :

M/s ABC Ltd.-9. 31 W5, 2023 lISEicy
- (i) Stock ’I‘ur_rjdver Ratio = 6 times
TGS R BRSO Site '
" (i) Gross Profit Ratio-= 20% on Sales
I ST A
(iii) “Sales for the year 2022-2023
~ =Rs. 300000 = .
| 2022-2023 IFER AR Rerm
(iv) Closing Stock is Rs. 10,000 more |
‘ than the openmg stock . :
. e Tgo S AR aqs 9[‘!]
10, ooo wab
» (v)' Openmg Credltors =Rs. 20 000
oREN G '
. (i) " Closing Creditors = Rs.- 30,000
AR sAreAmE - -
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(vii) Trade Debtors at the end
=Rs. 60,000

AR JAF-TETE

(viii) Net Working Capital = Rs. 50,000
Find out—
e F—
- (i). Average stock
"‘ T TGO Al ‘
(i) Purchase
m -
(iii) Creditors Turnover Ratlo o
AN %‘ra-wra w:mt-s

(iv) Average Payment Period _
TG A et

(v) Worklng Cap1tal Turnover Ratio
L iR TR TSR SRS
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-

(d) "The expenses for the productlon of
5,000 units in a factory are glven as

follows :
&5t FPRAFS 5 oooﬁ%ﬁﬁt %qumaw.
oot i e e '
Particulars (Fad) . | Cost per Unit
- o (Rs.)
Materials (49 ) 50
Labour (#f®) | 20
Va;iable overheads (AfcéTu sfe @) | . 15
Fixed overheads {Rs. 50,0000 = 10
7 wfoRe W (50,000 )
Administrative expenses (5% variable) 10
RE T (5% ARETR) o .
- Selling expenses (20% fixed) | 6 -
- fwm @ (20% ) B
Distribution expenses (10% fixed) 5
R | (10% TR -
Total cost of sales ' 116
pRmw ' .
' Prepare a budget for the productlon of
8,000 units..

8,000 cﬁfﬁﬁewmwetww| |
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o

\'0

The following data have been extracted

© from the books of M/s. XYZ Co. Ltd :
‘M/s. XYZ Co. Ltd.] 3R =¥l &1© ﬁzn
SYRR A (R 3 |
Materils | Standard Quantty | Standard Price | Actuel | Actual Price
u) | por ot Ra) | Quathy | pe Uk
4 , (Units) :
womd | wmom | RORIR R | oo R | o g
| (521 ()
A s | 8 0 | . 750
B |- N 300 i 400
Total () 150 Lo 170
Calculate— 2.5x4=10
e F— .
i) Matenal Cost Variance
sfely AT IW ol
(i) Material Price Variance
siof ANTE T fower
- (iii) . Material Usage Variance
oty AW R oSl
 (iv) Material Mix Variance

ﬂcﬂwﬁéﬁﬁmm
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i) Explam any five advantages and any
Jive 11m1tat10ns of standard costing:
. 5+5=10
A I fiﬁl"ﬁﬁ"ﬁ ﬁzzﬁm A5 AR ==
Riescsr 5 st i |

(g) -From the followmg data, you are
required to calculate break even point
and net sales value at this point :

weTe Ml SARRT 2/, @ 2o Ry i @3

Particulars (R339) . | Rs.
Direct Material ‘Cost per unit - 10
oo A A &S 28HES :
Direct Labour Cost per unit 5
oo ©fis oS TBRGT I :
‘Fixed Ovérhead : 50,000
i wfele I ek

Variablé Overheads @ 60% on
direct labour :

TR wfeRe 1
(erey 2fiis IR 60%) | |
Selling Price per unit , - 25 -
25! RO R 371 :
_Trade Discount . . 1 a9

NI L
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If sales are 10% and 25% above the
~ break even volume, determme the net
- profits.

& 3 R @5 10% O 25% SR
Rerm @RI {0 6 e MER w1
(h) Explain the following terms in relation
. to marginal costing : - 2x5=10
2l AR e TeE AR TS ﬁm@ﬁa
[ A3
(i) Contnbu‘tion'
IIGRE _
(i) Angle of Incidence
R - |
(i) Margin of Safety
R T
| (iv) Profit-Volume Ratio
Al S
| (v) Break Even Point
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